Пусть Саша (С), Виктор (В), Дима (Д), Андрей (А), то:

1) С-1, В-2
2) С-2, Д-3

3) А-2, Д-4 
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Составим уравнения:

1) C1*B2=0

2) C2*Д3=0

3) А2*Д4=0

4) С1+В2=1

5) С2+Д3=1

6) А2+Д4=1

7) С1*С2=0

8) Д3*Д4=0

9) В2*С2=0

10) В2*А2=0

11) С2*А2=0 
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Умножим (4) на (5):

(С1+В2)*(С2+Д3)=1

С1*С2+В2*С2+С1*Д3+В2*Д3=1

Т. к. С1*С2=0 (7) и В2*С2=0 (9), то

С1*Д3+В2*Д3=1

Д3(С1+В2)=1

Д3=1 => в (8) Д4=0 и в (б) С2=0 
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А2=1
Умножим (4) на (6):

(С1+В2)*(А2+Д4)=1

С1*А2+В2*А2+С1*Д4+В2*Д4=1

Т. к. В2*А2=0 (10), С1*Д4=0 (Д4=0) и В2*Д4=0 (Д4=0)

С1*А2=1

С1=1, т. к. А2=1
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Места:

1. Саша

2. Андрей

3. Дима

4. Виктор

